
 

 

 

              Problem Solving: Grouping [Part 1] 
1. There are 6 apples which Anna must pack equally into 2 bags.  

 

 

 

 

     How many apples must be packed into each bag? 
  

     _____ apples ÷ _____ bags  = _____ per bag       

                

2. There are 8 apples which Jane must pack equally into 4 bags.  
 

 

 

 

     How many apples must be packed into each bag? 
  

     _____ apples ÷ _____ bags  = _____ apples per bag                      

 
3. There are 12 apples which John must pack equally into 3 bags.  

 

 

 

 

 

     How many apples must be packed into each bag? 
  

     _____ apples ÷ _____ bags  = _____ apples per bag                      

 


